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How Does a Hawaiian Baritone Laugh?

Simplify each expression below. Find your answer at the bottom of the page and cross out the letter above it.
When you finish, the answer to the title question wilt remain.

® -3x+ox (®) -2y+7y+4 (5 9—3x—(-8y) + M~y
(2) 2y - 10y (9) 5x+7+x-9x (16) x—dy—12-5y +8y

(3 -6x+x 10 -sy-2y—4+4y (7 3x+7-7y+2x-3y—1
(@) 12y -y @) 6x— (-39 +x—6 (@ —9x—y+1+5y+5x—10
(5) —4x—5x (2 4x+2y+4x -5y {9 —x+8+6x—4y—8x+3
(6) 8y - (-8y) (3 ex+8y—-3-7y @O 4x—7+y—7x—(=3y)
@) —x-(-10x) (14 -6x—2y+8+5x—1 @1) ex-5y—-x+9-y
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